DEXX.PK

ERGCONOMIC SOLUTIONS

LIFT MINI-M1
MANUAL STANDING DESK

A B C D E F = G
% ®
1pc 1pc 1pc 1 pc M6x12 12pcs M6x25 3pcs 1pc M6x12 4pcs

STEP 1

Use Screw H to secure the column to the base plate.

For eccentric installation, fix it into the 4 holes on the side of the mounting plate.
For center installation, fix it into the 4 holes closer to the center.

i i

Offset

Center
Installation Installation
H. M6*12 screw x4
G. 4mm Allen key x1

STEP 2

Secure the mounting plate to the panel using M6x12 screws.

T

Offset
Installation

E. M6x12screw 12pcs
G. 4mm Allen key x1

Installation

STEP 3

Secure the base to the end of the column using M6x25 screws.

Installation

F. M6x25screw 3pcs
G. 4mm Allen key x1

Center
Installation

STEP 4

Centering the column
installation provides better
stability for the coffee table.

Center
Installation

With offset installation, the
coffee table slides easily
under sofas/beds for more
comfortable use.

Offset
Installation

IMPORTANT NOTE:

Check to be sure that you have all parts and hardware.
Don't tighten all screws/bolts until all completely assembled.
Keep all hardware parts out of reach of children.

It is recommended for 2 persons to complete this assembly.
When adjusting the desk height, please use both hands.

Warning:

Place all laminated parts on a clean and smooth surface such as a rug or carpet to avoid the parts from being scratched.

Remove all wrapping materials, including staples and packing straps before you start to assemble.

Do not exceed the desks maximum load capacity(10Kg). Serious injury or property damage may occur!




